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Q8  |Curie is the unit of--

K 1) Temperature
2) Radio activity

X 3) Heat

x 4) Energy

Q.9  |Jamini Roy is known for his contribution to the field of --
A1) Politics
X 2) Dance
2<, 3) Sculpture
4) Painting

Q.10 |Fijeld Marshal is the highest rank in
X 1) Air Force

"’j 2) Army

‘x'_ 3) Navy

~ 4) Air force,Army & Navy

QU aprar stafPas a¥ 2016 & Fef TaT STwa?
A1) g
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Q.13 |In the human body ,"Bile" is produced by
X 1) Pancreas

< 2) Gall bladder

X 3) Intestines

- 4) Liver

QU orfofed & @ 8 aRdT G0 % el et $1 ereaRat F wiFe g
HT IUHR 82

X 1) afafe s

X 2) swrseata

x 3) AT wargrer

"4) aa?ﬁam?r

QIS uer 310y cafda @ fer-feT Wi & i 3R TFeR & Rawd gt &
K1) aer 3R g

X 2y wrer 3R T

X 3) srer 3K aAem

‘-"4) & AR e

Q.16 |t faggd dea 7 3MH dX W FHiA & & AT 2
X 1) et 1S sitrarss
Kz)aa‘la—?fna?r

3)613313?

v ) arEere

Q17 |

1/14/2014



.
= . —o— ﬂ i *- Mg darsi &1 ufl sraeE Bedt i
Govt. s5C Bank  Railway  |as. GK  eBooks [Il Sarkaﬂﬂelpj}ﬂm

Current

Affairs Jobs PCS

fArfaf@a & @ @l a1 718 g & g & fGem F gHar g2

X 1) geely
Kz)u—om
X 3y g

"4)%1%

U | erafafee & & fre TGt & qu & aar & AT Gad HF @ &
X ) %
v o) o
X 3 g
X 4 9

U oo saremer Rewic waw s w9 s vdT @ T 3
X 1) ST9 SaTdAEr 368 9 g §

X 2) SI§ SATHEY &l AT HAT BTl &
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Q.20 |1 India, the inflation is measured through the --
x 1) Cost of living Index

~ 2) Gross domestic product index

x 3) Consumer price index

- 4) Wholesale Price Index

QL g afRasr fr axw 10 Rt Tora g, 38 dle It 3 Hg Sirar g 3RS
fohell Terdm &1 38 91g & IR Rt 3N #FS & a1g g HAM: 5 e, 10
forat 3N 15 fopell orel &1 371 a8 3RS Tl § fohetell qq 87

X 1) 10km

< 2) 15km

v 3) 5im

X 4) 55km
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w0 R 3N qET SE & o ot 9gr HEaey § O § T AT gl

1/14/2014



Q.3

Q4

Q.5

Q.6

Page 5 of 39

Jhcdl & I JI9AT T TIT FLIZABY : CXVE :: DWUF : ?

v 1) TGIQ
< 2) TGIR
/< 3) VEHS
< 4 UFR

T3 & AFATfEd @t # @ @l a7 A GHg @ FFa gl W g2
& 1) 57,23, 34
v ) 25,6328
A 3) 21,27,48
< 4 15,33,18

fArAfaf@d mhfa &7 fFder fBeger &2

L

4 QAT ST dTel Teh O U BT fAHIT dcAgl B SAfSAT Y e, drer IR &R
W& QIR &l 386 916 38 1 JA T dTed BI-BIC el GUst &
ST AT T

Rect o et B S o FaE O g AE B

1/14/2014




Page 6 of 39

v ) 69
X 3y 78
<7
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X 2 54
X 3) 74
v 4 125
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X 2 144
< 3 135
v 4 126
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v 1) 24 years

‘K__ 2) 26 years

< 3) 23 years

< 4) 18 years
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X 4) 77 ot & wIT A A Y

Q5 |3mraiae Reuor @/4r gar &2

A1) ey geraE sruar faReT qarT g B S arer
X o) foega w7 & o S aren

~ 3 H&wmﬁﬁmmﬁw

v oy ﬁwﬁtwasaﬁﬂaﬁmﬁﬁaﬁmﬁ@mﬁw

Comprehension:

Tl FETIES & AR AT Foearor & fAv & g g9 gaEy & el
W B g1 aslt I AaRURIBT & R T80T Y HJST 379 Sfidel &l
FUAT &1 Fohell § 3R W91 & 9Y R 3E ¢ Hehell gl JIEHATT HJSZ
TAHGISRT TIOCHIUT TATH Heoh Tod HI 910 AT TohdT gl AT 37T
AT AU F T BIAT ST @7 81 96 TIuRT &l HhIoTarsi # JefsT 14T 81398
Ww%ﬁmaﬁé‘rﬂé&%’ﬂﬁél

Q.6  SubQuestion No. :1

AT AT fohE a1 & R H Frerar 82

X 1) e & aeeE g

~ 2) AT cTdgR

*‘f3) 9% fea & I

Koy aF IR F

Q.7  SubQuestion No. :2
AT TSl el a1l & 3orsT a1 82
v 1) fERt & Fhofarst &
A 2) srs FrERaEt #
X 3) Reawd wrif
X 4 FHFaTERY TRear

Q.8 SubQuestion No. :3
#EIeNl & faar fhas fav gd &2

< 3eiE 3R q@ F e
X 2 et & Rw
X 3) 3 AT
v oy AT FeAoT & T
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3<oT #T faedie e §-
v g
X 2 @
X 3) g
X 1) i
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G AT gl HeraX H FqEr 3 &
v 1) s g
X 0y @ o
x 3) oA tE F EEAT
X 4) FE T T A

Bar bending schedule is prepared to find out the quantity of :-
x 1) Fine Aggregate
v 2) Reinforcing steel
~ 3) Coarse Aggregate
X 4) Cement

Simple bending equation for beam is -
X 1) MI-RE=o/Y
& 2) M/I-RE=Y/o
v 3) MI+ER=o/Y
X 4) UM-ER=Y/s

Two primary air pollutants are —
1) Ozone & Nitrogen oxide
~ 2) Nitrogen oxide & carbon dioxide
x 3) Sulphur oxide & zone
v 4) Sulphur oxide & Hydrocarbons

fSefAse &= & v | g grem |
Y ) m=2-3
A 2) m=3j-2
A 3) j=3m-2

A 4) j=2m-3

T T (truss) H ST AT F&AT 4§ & ol TUT AFRT H F&AT ‘m’ g dl
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QS el argvse 3 ST WA & T @Y & FROT QT &
X 1) e #r HER

X 2) g

v 3 o W

X 4 gea ER

Q.6 |The two plane mirror are fitted in a optical square at an angle of -
v a5
X 2 600
< 3) 30
X 4y 900

Q.7 | The method in which, the property is studied in details and loss in value owing to
physical deterioration is worked out. The basis of this method observatioin and not
assumption is known as -

v 1) Quantity survey method

x 2) Straight line method

~ 3) Sinking fund method

x 4) Constant percentage method

Q8 |In areinforced beam, the effective depth is measured from the compression edge to —
K’ 1) tensile edge
x’ 2) central axis
~ 3) neutral axis

v 4) tensile reinforcement

Q9 HIHT Prshic o HHAUFEIT Hered GIEToT (Compacting factor test) & FIT T
BT & -
V' 1) SaEE™ (Workability)
X 2) Refr 3ite PR
K 3) T (Strength)
4) gRIfAET (Porosity)

Q.10

afSe &1 gl & 0T Fel & T Wsd & I Frsaw i 3@ 1 T AW
ST &-
A1) 100 3
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Q.12

Q.13

Q.14

Q.15

X 2) 9o @
X 3y 150 e
v 4 12035
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T Uil &7 hl T MR &7 AT 2 H: x 2 AL g 3R 4 A TN & | Tg

ofieT #HleY T Tl $RT § 58P el W T HT Fol JeId ISIT -

& 1) 1200 frarme
¥ 2) 12000 RrarT
<3y 1,20,000 framE
< 4 120 Rrame

Use of coagulants such as alum results in —
‘-’: 1) reduction of pH of water
K’ 2) may increase or decrease of pH of water
x’ 3) increase of pH of water
~ 4) No change of pH of water

gafold Sl FT Gsdca foraT ST §:-
X 1) 2200 ke/m?
& 2) 2500 kg/m?
v 3y 2400 kg/m?
& 4) 2300 ke/m?

The diagram given below shows-
~ 1) One phase diagram of soil
2) Two phase diagram of saturated soil
K 3) Two phase diagram of dry soil
x 4) Three phase diagram of soil

afe gl T AT A “d" @, AT §oh AT Teeh¥al deg Q1IN -
X 1 8d
X 2y a4
v 3 164
X 4 124
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Q.16 | For cohesion less soil particles, the neutral pressure coefficient of soil is taken as:-
¥ 1) 1+Sin0/1-Sind

K_ 2) 1-Cos0/1 + Cosb

2 3) 1-5in0/1 + Sind

~ 4) 1+ CosO/1 - CosO

Q17 |The super-elevation on roads is -

K_ 1) Inversely proportional to the radius of curvature

x__ 2) Inversely proportional to acceleration due to gravity
~ 3) Directly proportional to width of pavement

v 4) Directly proportional to velocity of vehicle

Q.18 Annuity whose payments are made at the end of each pOeriod, such payment being
continued for a definitte number of periods is known as -

x 1) Deffered annuity
v 2) Annuity certain
x 3) Perpetuity

x 4) Annuity due

Q.19 Ife HeT &I HANR = W dAUT 38 3F Ul &l HR = W 8T ol FTeIrer &l
HIT IO -

Yo (Ww )
X o) 1rwiw)
X3 1 wiw)
Xy Wywyl

Q20 |1ty g = dry density, Y = bulk density and w = water content, then the correct
relationship of these will be —
S Y=Y 0-w

Y 2) Y= Yi(+w)
A3 Y, =YW
K4 Y=Yd(l+w)

Q.21

The cost of manufacturing the commodity plus profit of the manufacturer is known as :-
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A1) Market Valule
X 2) Net cost

v 3) Price

x 4) Monopoly value

Q.22

100 fA#Y. I/ arel 9Is9 &Y 3MEETE 200 fRHE. IE d e Jar §
?JﬁﬁWTﬂTmﬁ/@TFTaTﬁﬁmmm?ﬁﬁﬂﬂTﬁwydl%d*wd
$r ITOTAT HIA |
X 1 204
X 2y 324
X 3y 15
v 4 225

Q.23 | The unit of measurement for door, window, shutters or leaves, paneled, battened,
glazed etc. is :-

v 1) Persq. m.
< 2) PerCu.m.
x 3) Per No.

X 4) Per meter

Q24 | & & *iaT T@1 o 31 TARN (durable) arfarer § -
v 1) e @R

X 2y feaRe arferer

X 3) arRdeT (Turpentine) aTfaier

X 4) arex arfer

Q.25 |For an effective administration, presently Indian railway system has been divided into
following number of zone —

<110

Q.26
The bending moment is maximum at a section whose shear force -
x 1) is minimum
x 2) isequal
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‘-’f 3) changes sign

4) is maximum

Q.27 |gs 1853 Ugell HRAIT YT Fgl H Hgl do doil
X 1) mgw @ torEre

X o) = g &

v 3) mres @ am

X 4y wamsor & qor

Q.28 W qrsd qRIdr gIaX (Cantilever retaining walls) T mﬁ ¥ A fohdeir
1S d& ST S TR ¥ |

X 1) am

v 2) 6m

X 3) s5m

X 4) 3m

Q2 |gfy emee @1 carE ‘D’ @Y, FAT AUV G ° &7 A AT Z@RT Fhe

EI?TEI;UST (torque) W@E frar Tﬂﬁ?lT—

X 1) Wy D3
v 2) @i6xD?
A 3) (w64 D3
X 4 w323

Q.30 |11 water bound macadam (WBM) roads binding material is —
X 1) Brick dust

X 2) Sand stone

v 3) Stone dust

X 4) Cement

Q.31 |5 AT Tolell 300 ASHIA & g ST AT g -
X 3mm

X 2) 0.03mm

& 3) 0.003mm

v 4 03mm
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Q.32 | The minimum recommended diameter of sewers is —
-‘x‘_ 1) 30cm
< 2) 20em
< 3) 10cm
v 4 15em

Q.33 Teh IMellehY 3MTehicl T Sa1E D’ g1 @l 3HepT FTsSca JTEOT (MI) BIaT-
v 1) %64
< 2) 7DY64
< 3) D64
< 4y ap¥32

Q.34

WA A Ffedl ST FHZY Ut el & JaU H $8 d § -

a) I s 9

b) I T AET g I

¢) 3 d9HAT W AT &

d) TSegH &1 AT S T |

39 5T FUAT H T TET FUT Sl AT &M

A1) atd b
X 2) bewd d
X 3) acudd
‘-(4) ald ¢

Q.35 ITIEY Gollel ol oTgT Held gU Tl gers &1 AT A Aedetel TRAT el
g Ad AT, FafF T AT Tl arell JTHT & Sl ORI W HHAA: FAS
g Im AT 1.6 m, S HI DISTg 10m TAT ST5] HT Gollel 2:1 8-

v 1) 3276 Cum

< 2) 3300 Cum

< 3) 3288 Cum

~ 4) 3312 Cum

Q.36

Told(slab) H A A FH Yol Told & T A QaRleT I fhdel gfaerd gem
Sy 018%
< 2) 0.10%
v 3y 0.15%
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Q.38

Q.39

Q.40

Q.41

Q.42
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A4 0.12%

As the percentage of steel increases,
1) depth of neutral axis decreases
‘-, 2) depth of neutral axis increases
3) lever arm increases

X 4) lever arm decreases

T 3T T oIFars FAT g1l FFTHhr T (s) = 1.5 . d41 3918 (h) = 20cm

A oima
< 2) 1657
A 3) 1s5a
v 4 158

Colluvial soils (Talus) are transported by —
x 1) Water

< 2) Wind

v 3) Gravity

A4 e

Minimum thickness of the base of a flexible pavement is —
X 1) 15cm
X 2) 20em
¥ 3) 10cm
X 4 sem

The surveying in which the curvature of earth is neglected and earth surface is
considered as flat, is known as -

~ 1) Geoditic Survey
x 2) Aerial Survey
v 3) Plane Survey

x 4) Geological Survey

gfe e areToT FIH\HT Fr gdseT qrHS (compressive strength) T IR
fArafef@d @ 3if8e g o oeTor ganT fohar S =g -
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v 1) 1.5N/mm?
X 2) 1 N/mm?
x 3) 2 N/mm?
X 4) 0.5 N/mm?

Q43 | What is the function of Draft tube in reaction turbine?
v 1) Converts velocity energy to pressure energy
x 2) To keep velocity energy constant
x 3) To keep pressure energy constant

~ 4) Converts pressure energy to velocity energy

Q.44 ﬁm H ¥ PiI-AT ATdcd FHIRIOT (Equation of Continuity) %"7
a1ViPp = a,VoP)

< 2) Q=pv
~ 3) Pja;=Psa,

GV =4V,

QI oy ey wdior &1 s L @ L e U aeg @ (fixed) AT g@_T T
I g ar 3HT JHTE FaTS o Sael -
Yoo

Q.46

FIRIC T TAAT GHETOT (Slump test) fHAT JTAT &, T A1d - & -
X 1) REFUT (Durability)
v 2) sgaEE (Workability)
< 3) @A (Strength)
X 4) STeT HATAT (water content)

Q.47 m(rivets)ﬂwmmmﬂﬁmm—
A 1) S S F 2.0 9
A 2) S g F 1.5
X 3 %wwwm
v oy a—c:—amwzsm
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Q.48 . During compaction the quantity of water at which the maximum density is obtained is
known as :-

x 1) Half saturated soil

X 2) Water content

‘-’f 3) Optimum moisture content
< 4) Saturated Oil

Q.49 AT A @ Al a1 3aya HIfAT aEA A JIFd 6T I
’1) ASS AT

v 2) T area
K 3) 3 T

4)$rfﬁr»r3ﬂaTUT

Q30 | e g/ & e, AT NS H ST (7N ) A7 Qof, FERF I F
faferse aetca 0.8 % -

A1) 40 Hex

v o) 508RR

X 3) go#ex

X 4 ndex

Q31 ooy gy 41 Rer oF o R e o 3ifkat R o § -
A1) ofRr

v o) gfawr

< 3) 3R

N

Q.52 | The ratio of volume of water (VW) to volume of Voids (VV) is a soil is termed as -

v 1) Degree of saturation
x 2) Water content

x 3) Porosity

X 4) Void ratio

Q.53

=g, 3Fell A AR HET &HIF (IRC) T STedAT AR TATTIAT THeh HEATeTd
a;ﬂwmm:ﬁreé

v 1) 1934
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X 2y 1927
X 3y 1947
X 4y 1942

Q.54 | Which of the following component is not related to Reciprocating pump?
X 1) Air vessel
"K 2) Impeller
3) Foot valve
v 4) Suction valve

Q.55 | Pelton wheel is chosoen for a head of —
XD 15m
< 2) 30m
¥ 3) 100m
< 4) 40m

Q.56 Teh AT o $ell § Rae T A Sl & Pl AR HT fohcelr gfcerd grar
g -

A1) 25%

v ) 5%

X 3y 10%

X 4 759

Q.57 ﬁl‘g‘TWﬁv‘qTaﬁT%

A1) o geRaEt & S A
& 2y @ReTEr (shoulders) X
v 3 TR F AR
X 4 e F R & aw

Q.58 |Self cleansing velocity is —

x 1) Velocity at dry weather flow

~ 2) Velocity of water at flushing

x 3) Velocity of water in a pressure filter

v 4) Velocity at which no accumulation remains in the drains

Q.59
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fHerer gafeld & (singly reinforced beam)dT HaH hHIAT Bas $r FACT &
|
K1) afEer sfaee =
v ) fafic ve @l
X 3) 3cénie gfaee

X 4) fheanel Ufaear Zar (critical stress theory)

Q.60 |The period of cleaning of slow sand filter is usually —
~ 1) 15 days to 30days

% 2) 90 days to 120 days

7 3) 120 days to 180 days

v’ 4) 30 days to 90 days

Q.61 |1j Indian railways, the ratio of axle load and weigh of rail is —
X 1) 650
v 2 512
X 3) 450
X 4 612

Q.62 | Bottom most component of a flexible pavement is called —
X 1) Sub-base

< 2) Base

v 3) Sub-grade

X 4) Base curve

Q.63 | Amount shown in the account book of a particular lyear after depreciation of the
previous years is defined as :-

1) Book value
?{ 2) Scrap value

3) Annual value
x 4) Salvage value

Q.64
TS TSFART & AR T 7  F7 diss giar amfeu -
X 1) 47m
v 2 57m
X 3) 67m
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X 4 37m

Q.65 |As per Indian Standard how many numbers of links will be there in a 30 m chain?
< 1) 66

<2 33

v 3) 150

X 4 100

Q.66 | The rate of accumulation of sludge per person per year is —
v 1) 25 liters
X 2) 101iters
< 3) 201iters
X 4 15Titers

Q.67 |In a shaft shear stress is not directly proportional to-
K_ 1) Modulus of rigidity

% 2) Radius of the shaft

& 3) Angle of twist

v 4) Length of the shaft

Q68 | zerat o @1 A SIS ofe ToeThr TerS 0.8 FLE ¥ e I | AR
mmmwammmmamemmv

Q.69 Galvanizing means covering iron with a thin coat of
~ 1) coal tar
v 2) Zinc
K 3) glaze
4) tin

Q.70

fopelt QereieT x — 3787 WX TS JTET I &Y, FUT y-38T W Sfsead ey [ &
ameWaﬂmm
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2(: D Oy +1,)02
) (-1,
MEREW
oy

QM e s SEH dgR 3Tshdel (elastic buckling) 8 & 3T&&hdd deld
(critical stress) & o el &l $iT @T CFFJfIﬂT ghaTr-

X 1) am/nE
v o) 2B (2
&3y =2/ ()
X 4 Y rE

Q.72 | The ratio of shear stress and shear strain of an elastic material is -
K 1) Young's modulus
2) Poiisson's ratio
~ 3) Modulus of elasticity
v 4) Shear modulus

Q.73 | Which energy head would be zero if a venturi-meter is kept horizontally?
X 1) Both Velocity head (v /2g) and Pressure head (p/w)

& 2) Velocity head (v2 2g)

¥ 3) Static head (2)

X 4) Pressure head (p/w)

Q.74 |1f the horse power of a shaft subjected to torque alone is doubled, horse power can be
increased-

X 1) 8 times
X 2) 4 times
X 3) 16 times
v 4) 2 times

Q.75
T YT YoTell & gid -

?‘4 1) ol & fT FT @ear
< 2 Fi%ffa?rﬁmﬁw
v 3) S Ye T @ of weee
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K4) Y &1 AT

Q.76 | To find out area of a given plan, the instrument which is useful will be -
x 1) Tangent clinometers

v 2) Planimeter

‘K_ 3) Pantograph

~ 4) Ceylon ghat tracer

Q.77 |3yarR #Ata # faESTeT (Discharge) T HF § -
(Where B= width of notch, and H=height of liquid above the sill of the notch)
X 1) 320B\2gH?
X 2) 320, B2gH?
< 3) 3/2c B\2gH?
v 4) 23¢,BV2gH?

Q78 gy frelr et X T a0 @, Agew 3% RFET M @1 aer
QA AT 2’ 81 ol IHH HY I aTell JF glam

X 1) M=1/6z

v 2) M=oz

X 3 M=7c

X 4 M=oz

QP afy a3ar @ weted w B '@ e FOT @Y qUr AT QAR A FE b @
ar SR W) afeT HeT are g -

V' 1) Wh¥2 (L4+sin®/ 1-sin®)

< 2) Wh/3 (1-sin®/ 1+sin®)

2 3) wh¥3 (1+sin®/ 1-sinv)

A 4) wh¥2 (1-sin®/ 1+sin®)

Q.80 |TorFg gdretor (Slump test)ﬁw_\qﬁ o forar arar %‘ -
“’ 1) FiPT
_ A o)
X 3 wre
Xy @
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Q81 | fau 71v AT & R w®eao gt gl Sie-

Yo x=2y
A 2) x=2y
K’ 3) \2x=y
K 4 2x=y

Q82 | oot oty arelr | w5 Hoit are (0.01 mm to 0.05 mm) Ft & HOT J
e , vaet garr aRafea #jer FEend ¢ |

v 1) Yasiie HeT (Loess )

X 2) 39aEe HaT (Drift)

X 3) arg FET (Aeolian soil )

X 4) FHE HaT (Colluvial soil)

Q.83 Iie gl &l ¢RIl 395 WIS 8 Al #FaT Tars & FEl Hel AT A1 ST
aaa—cfr%f
1) Ueged A @
"2) RraaeT e @
X 3y i 3mEee e 9
X 4 fis 3RS e

Q.84 According to the I.S. code for single footing in cohesive soil, the permissible settlement
is taken as:-

X 1) 3em
X 2 4em
X 3) 5cm
v 4 55cm

Q.85 | Column may be made of plain concrete if their unsupported lengths do not exceed their
least lateral dimensions —

X 1) 5 times
X 2) 2 times
v 3) 4 times
X 4) 3 times

Q.86

Teh Tellehd U ¢ReT # Teh BISH Tcdeh @Y B3 @l Y & fohcell g¥
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AS AT e AT ST § |
X 1) e & 1/6th
v 2) W & 1/7th
A 3) ure & 1/5th
A 4) e F 1/4th

Q87 |1f Pis the percent of water required for normal consistency, water to be added for
determination of initial setting time is -

< 1) 0sop
< 2) 075P
v 3) 085P
X 4 070P

Q88 v waesr &) ot o &1 el AT § I 3T THTAT ofF a5 Td oledd

TISST I AT, HH FI1eT & |
X125
X 2 10

Q89 (A simply supported beam of span ‘I’ carries a point load ‘w’ at the centre, the slope at
the support will be

< 1) wieEl
< 2) WIZ24EI
v 3 WIXI6EI
X 4y Wi2pEI

Q90 |ugrEt Hseh W FW Sl gl =TT
X 1) 129 & s A
X 2) 8% % arEr g
X 3) 5% T swEr 8
v 4 10% T ST A&

Q.91

tRA T HET Tdold B3 T A LAJ L/SH gl WASW A & ¢ | IS

d’ 37 B8t & T dheal I gl g o , ofFaTs H 3o alal Al & fow
HiAReFT orFars & o FACH § |
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X 1) 03d
X 2y 045d
v 3y 0.0d
X 4 06d

Q.92 In a quadrantal bearing system the angle is N44% - 30' W in whole bearing system it
will be: —

v 1) 315030

< 2) 240 30

X 3) 440 30

X 1) 135930

Q93 |A simply supported beam carries a uniformly distributed load over the whole span. The
shear force diagram will be -

‘-, 1) two equal and opposite triangle

2) Two equal and opposite react angle
~ 3) areact angle
x 4) atriangle

Q.94 If coefficient of permeability of a soil is 10”7 cmi/sec. then the soil is:-

X 1) Gravel
X 2) Sand
X 3 silt

v 4) Clay

Q.95 gfe Teh N1 WAC & fAT 30 elleX 9l oferdr g, ar Sor - WHAe 1 3Heqard
T g -
X1 os
X 2 04
v 3 06
X 4 03

Q.96

The graph drawn between the dry density of soil and the water content at the time of
compaction is called as:-

K 1) Compression curve

2) Settlement Curve
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v 3) Moisture density curve
x 4) Porosity curve

Q.97 | The lease is granted for duration of the life of the leaseholder for the duration of life of
the leaseholder or some other person is known as :-

K 1) Occupation lease
2) Building lease

X 3) Sub lease

v 4) Life lease

QI8 |\fide & fA#ATT F &S sEAATST FHM ¢ -
A1) e

x’ 2) Sef31T YcAY (Sand stone)

< 3w

v 4) EI“?-T I YUY (Lime stone)

Q.99 SR AYATAR (Darcy’s law) HeT @ Tl fAEEROT dr AT &1 T & (Sfh
Q =9l & AT |, K = YRFIdl d;I,UIidn ,i=gdIg g a1 A:ﬂﬂ%ﬂ'& aT
)

X 1) Q=Ki/A

v ) Q=KAi

X 3) Q=AIK

X 4 Q=KAi

Q.100 afy guer Aol Fr ST T 24 T I F ZaT @ A, A IF A9 T
wﬁmﬁﬁ%mﬁmmﬁaﬁm@?ﬁl

v 1) 20%
X 2 15%
X 3y 10%
X 4y 259

Q.101
e Fihlc & ® & AT & o 39gerd ST (aggregate) FT HATRIH

3eTA TSl BIeTl § -

1) 8§ mm
v 2 10mm
X 3) 4mm

1/14/2014



Page 30 of 39

X 4) 6 mm

Q.102 | The deflection of beams may be decreased by-
~ 1) Increasing the width of beam

v 2) Increasing the depth of beam

~ 3) decreasing the depth

x 4) Increasing the span

Q.103 qEETeFd ERe foIeerr 91e ‘L’ § , 3HeT 9TU0T §of 3RY =i feam arm g, ar

maﬁmﬁaﬂamg’w

-\

< 1) waeL)
SR

X 3 wL2
X 4 waaL))

Q.104 | A room is 4m x 3m with 20cm walls all around. The estimate of walls by central line
method will be -

X 12m
¥ 2) 148m
< 3) 156m
X 4 14m

Q.105 | Modulus of elasticity (E) of concrete given by -
v 1y 5700 Vick
& 2) 5800 Vfck
< 3) 5600 Vick
< 4) 6000 Vick

Q.106 |37 shigeFer X daT 0TI Bl & —
Xy v XV,

2(" 2) Vth + Va(:t
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Q.107 | A web plate is called unstiffned if the ratio of clear depth to thickness is less than -
v 1) ss
< 2) 50
< 3) 60
X g 35

Q.108 FIhie FT QTC{\U‘f ALY (Full strength) fohdst f&AT & a1e g1 & 819 -
& 1) 7days
‘-’f 2) 28 days
< 3) 21 days
< 4) 14 days

Q.109 | The property by which a body returns to its original shape after removal of the force is
called -

‘K’ 1) Plasticity
< 2) ductility
X 3) malleability

elasticity

Q.110 | which one of the following is employed to determine strength of hardened existing
concrete structure -

X 1) Bullet best

v 2) Rebound hammer test
x 3) Cone penetrometer
& 4) Kelly ball test

Q.111 | For calculation of earth work, the free lift allowed is -
X1 o2m

X 2 25m

X3 im

v 4 15m

Q.112
d8d I g« A & fIT g« IeT 9IieT giar g -

X 1) Heerll ga AT (Differential liquid pressuremeter)
v 2) a’ré?r g 3197 (Bourden pressure gage)
X 3) ot HearereT (Simple manometer)
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x 4) Ul (Piezometer)

Q.113 | Best ballast contain stones varying in size from —
< 1) 5.0emt07.0cm

~ 2) 7.0cm to 9.0cm

v 3) 2.0cmto 5.0cm

X 4) 0.10cm to 2.0cm

Q.114 | A linen tape which is reinforced with copper or brass wires is termed as —
x 1) Invar tape

v 2) Metalic tape

K_ 3) Linen tape

~ 4) Steel tape

Q.115

il 3T Beelled # Fea Ul &1 IigerTed gy fhar Srdr §-

A1) 40 TR IR
v 2) 60 el T
< 3) 100 Bl /AR
A 4) g0 e IR

QU6 | ooy aerep eer &, 3fieshcrs 319e90T Yideel qT 3iad 39wYoT Sfee &
3T B & |

<y oo

< 2 32

v 3y a4

X 4 3

Q117 |BreFuR & 9 T 39T fhar JArar § -

v ) siidRE TdE o W AGE & 9T F 98 @ @
‘K_ 2) $Fq138 arel (Compound wall)

X 3) T f e waE F

X4 saFH

Q.118
afg il 7 Fol- @ F eI M@ g o -

a) fAFT & ASEAT gefr

1/14/2014



Page 33 of 39

b) fRAFT A 3T HrRIRMear gefr
o) AT & FHEART gelr
d) SITS3T A grafy

HT AT FYAT H § HlA AT HUT T ¢ -

MDRLELE:
A 2) a3k b
A 3) asikd
T

Q119 Flshic H Y0 (fine aggregate) T TSl oo & P TGl § -
A 1) 375mm

v 2 475

< 3) 275mm

4y 3.00

QI20 1\ 20915 e o , HIHe: Xd: Ty 1 31t g -

X 136
v ) 1%
<3 L2
X 4y 124
QI ity v, = a1 &7 $a7§ et 9K, Y, = FaT 1 S e HR a7 Y, =

UTell T SehTs A @1 ol 3eTehl WL g g |

Ky Y, =Y, %Y,

Kooy =y sy

sub — “sat’ "w

Q.122

Teh UISUaTSs 500 . s & 250 e, carq deh S & ST § |

$H UTST § 6.4 HP/A. AT AET & U 98 @ ¢ | Bl R W irade qmei
T 39T T

A1) 21244 ARAFTE

X 2) 100.44 F/AFUE
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Q.124

Q.125

Q.126

Q.127

Page 34 of 39

X 3y 157,44 RV
v 1) 13044 HAFUE

. GTYRUT Qs WdAe O Jafa @FT Faedr ued § |

a) IRTEHS FAET FHI- 30 A,
b) 3IfaHT FHET THT — 109
o) 1He o IS fhar — 10%

O T ¥ AT @ FUT TR -
X ) bpak e

MPEELE:

x__ 3) a3k ¢

Pal 4) a,b3-ﬁTc

AT aRfEAfAAt & eqar aeh @ Bl g @5+ 3faa § afe dfaew
ITATT AR SHY SITET o7 &, AR o fow v §-

v 1) 2000

< 2) 3000 e

< 3) 100027

< 4) 15002

Fishic aRETOT & fT 10 Q. & FIF FT 39T dF giar & , o1« gy &
AT Agel AT @ Srer &1 &

A 1) 15mm

¥ 2) 20mm

< 3) 25mm

< 4 10mm

In a contour plan, the contour lines when meet at a place then it is known as -
v 1 it
x 2) Overhanging cliff
< 3) Hil
~ 4) Ridge

Along the neutral axis in a beam -

~ 1) fibres undergo maximum strain
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K__ 2) fibres undergo maximum elongation
~ 3) fibres undergo minimum strain

v 4) fibres do not undergo strain

Q'128WW%HWT&EW‘A’?FﬁM%WdMﬁﬁJ I AT gt
|
A1) 1sA
<2 A
v 3) 1254
X 4 oa

Q.129 |t wrerSe # ¢35 &1 GE&AT fhEsh ST gl §
< IEoR & SR

v ) TER A T FA

A 3) TEeR A @ I

X 1) TER ¥ TF @

QI3 | eore @7 IR ST ST g afe &R Irarra Samer ar ar -
A1y s @
< 2) 750TT @
v 3y 1000 @
X 4y 1250eT @

Q.131 | The least count of a self reading staff in leveling is —
v 1) 0005m

X 2) 0.05m

< 3) 001m

< 4) 0001 m

Q.132 | Aeration of water is done to remove —
K_ 1) Turbidity

< 2) Colour

¥ 3) Odour

X 4) Bacterias

Q.133 |
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U 8T &THAT dTa oo H fhdely §¢ U O1Y o 1S S gahdl 8-
1) 1800
& 2y 2000
& 3) 3000
v 4 2500

Q134 srr gz g 1.03 RrmaAeh 2 qar W o T &g W 105
oA g O 39 TUH W A ST FAT gm?

X 1) 20 FrammERE?

X 2y 208 RramERAHE?

v 3y 0.02 RramERAER

X 4) 1.05 RramEAE?

Q.135 | The Rate of payment for providing damp proof course in the building is :-
¥ 1) sqm
2) Per number
< 3) cum
x 4) Running m

Q.136 Teh HIYRUT YESToFe (HUIES) U &I 9IC ‘L’ &1, 37 W &l dhogeh dof ‘W’

T & L3 gt W ot gf af 38 W Af¥ehasd AATEeT M’ gl |

X 1) 3wLa2
X 2y swLss
v 3 wLs
X 4 w4

Q.137 | A Curve having different radius fitted in between straight line and circular curve, is
termed as -

‘K 1) Super elevation
2) Vertical curve
v 3) Transition curve

~ 4) Compound curve

Q.138
What percentage of cost is added at the time of rate analysis for masonry work -

v 1) 15%
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X 2 29
X 3) 5%
< 4 3%

Q.139 HeT &M g8 0T T e HROT Il 3HH YU ool el & varigd
g , FEaTel ¥ -

K_ 1) YT (Porosity)

~ 2) RAA (Seepage)

v 3) YURATHIAT (Permeability)

X 4) TEFIAT AU (Void ratio)

Q40 | et Y v T e &1, 7 FISTH 0T ST9T Rhelell @l 2
1) 300w 32
X ) 400 42
v 3) 35°F 37°
X 4 509 250

Q.141 | Tpe reading obtained in liquid limit test is plotted on a diagram in which water content
is shown on y — axis and the strokes are shown on x — axis is termed as -

x 1) Saturation curve
x 2) Plasticity curve
~ 3) liquid curve

4) Flow curve

QU2 | orer 3% oot fr e AT Fo o Y TS TAT F AT F ol
oTeT Blcll &eallal & :-

A1) gEdE (Liquid limit)

A 2) gcarEaT WA (Elastic limit)

v 3) @hdel HIAT (Shrinkage unit)

X 4) gaeg @A (Plastic limit)

Q.143
i@ & & @l a1 ek g 311 Hegar (valuable) §19TT -
X 1) R (Chin
v 2) &% (Teak)
' 3) ofRIF (Shisham)
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Q.145

Q.146

Q.147

Q.148
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X 1) @ (Sal)

LS. ©olel 2mm dTell #H:-

v 1) YA B¢ 2 mm FHT JIATHR THR HI g
X ) 9% B¢ 2 mm AT H LT

X 3) e & g g

X 4) iy 9 Faa o O @

m_\ﬁ?-f ?IIU'IW Cd (Coefficient of discharge) ST & SR g ar %—

(where C = Coefficient of contraction, C, = Coefficient of velocity)
<1 ey,
X 2) ¢, -cv
<3 cuc,
¥ 4 ¢, xc,

HeT B gars A& 30 cm @ A gL AT IHR! AT ST § 9 -
v 1) sqm.

X 2y 10sqm.

X 3) cum

& 4 10cum

RCCEI$ H, PlT T@T T (steel) T 3TANIT BT & -
X 1) S P e
v ) wiges e
K 3) werorw &
x 4) AT T (wrought steel)

. If PI = plasticity index, LL = liquid limit and PL = plastic limit, then the correct
relationship of above will be —

X 1) PI=LL+PL
& 2) PI=PL-LL
X 3) LL=PI-PL
v 4 LL=PI+PL
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Q149 |t T & o e fFwrRIdr @3 (economical section) % -

J 1) eg&elX 3-17:!841?T (tubular section)
x 2) Y MATPR (solid round)

X 3) ‘Sl'c."ﬁix_rf (hexagonal)

X 4 EaER

Page 39 of 39

Q.150 | The capacity of a beam is determined by the load which causes —

1) yielding of steel

2) crack in tensile zone

3) crushing of concrete in compression zone
x 4) the shift of neutral axis
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